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3235 gl —1Y 1 531 HS IR T 2
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3247 Easall — Y 2 1062 HS BEARNES
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4538 EIRA =Y 1 390 JIEEH EEIESS
4539 . — Y 2 780 JI eSS
4540 Tk ARAE — 1Y 2 1156 JiEAE eSS
4541 TR % —1Y 3 1311 JI AR eSS
4542 EE =4 1 625 JI AR EEIESS
4543 [ Ras =Y 2 1015 JIEAHR EESIESS
4544 ! — 1 1 625 J R eSS
4545 K| bk — Y 1 625 JIEEA eSS
4546 TR ZE — 1 3 1546 JiEAHE eSS
4547 BN — k4 1 390 U EEIINESS
4548 A =AY 2 780 JIEEH EEIESS
4549 5K T =Y 1 531 JI A eSS
4550 TE W= — k4 1 531 JiEAE eSS
4551 E — 1Y 2 921 JI R eSS
4552 R =AY 1 390 JI AR eSS
4553 X EFH — Y 4 1936 JIEAE EEIESS
4554 Tk =4 1 625 J R eSS
4555 5 il 5 — A 2 1062 JIEEAHR eSS
4556 AT — 1 2 780 J U EEIINESS
4557 e =4 4 1936 Pak: s EEIESS
4558 KR =Y 1 531 JI EESIINESS
4559 WAL — Y 1 625 JI eSS
4560 ik B S =1 1 625 JiEAE eSS
4561 FERKCE —1Y 2 1015 JI R eSS
4562 R =4 2 1015 JI AR EEIESS
4563 i Zilb —1Y 2 921 JIEAHR EESIESS
4564 X% — 1 1 531 J R eSS
4565 X R — A 2 780 JIEEA eSS
4566 15 e JTi — 1 4 1701 JIEAE eSS
4567 ik SR — k4 2 1015 Pak: s EEIESS
4568 ZBM 2 =Y 1 531 JIEEAH TR o
4569 PUEA — Y 2 1015 JI A TR o
4570 FiEm =Y 2 1062 JiEAE TR 2o
4571 FA — 1Y 1 531 JI R TR o
4572 B S =AY 1 531 JI R TR o
4573 ZERAR — 1 1 531 JIEAE TN Z 2
4574 o — 1 1 531 JIEAR TR 2
4575 T — A 1 531 JIEEAHR Tl o
4576 XA — Y 1 390 JIEAR TN Z 2
4577 BRKAE — k4 1 531 JIHEAE TR 2o
4578 R =Y 2 1062 JIEEH TR o
4579 PR — Y 2 921 JI TR o
4580 FA W =Y 2 1062 JiEAE TR o
4581 ZAH —1Y 1 531 JI R Tl o
4582 EREin =AY 2 1062 JI AR TR o
4583 XI5 i — 1 1 390 JIEAHR TN Z 2
4584 8T — 1 1 390 JIEAR TR 2
4585 E&5F — A 3 1311 JIEEA Tl o
4586 E R =Y 1 625 JIEAE TN Z 2
4587 BE — k4 2 780 Pak: s TR 2o




4588 E#E =Y 4 2265 JIHEAHE LA 22
4589 PR =Y 4 1701 JIEEH TR o
4590 FNE — Y 3 1311 JI A TR 2o
4591 ESI]5% =Y 2 1015 JiEAE TR 2o
4592 TR ik —1Y 3 1546 JI AR Tl o
4593 EAF] =4 1 531 JI AR TR o
4594 B HEAR =Y 3 1170 JIEAHR TN Z 2
4595 MR AL — 1 1 531 JIEAR TR 2
4596 W% — A 4 1701 JIEEA Tl o
4597 TNt — 1 1 625 JiEAHE TN Z 2
4598 xR =Y 2 1156 Pak: s TR 22
4599 BF =Y 2 780 JIEEH TR o
4600 FhE — Y 1 531 JI TR o
4601 =R — k4 1 390 JiEAE LN
4602 E i — 1Y 1 625 JI R TR o
4603 D5 =AY 3 1546 JI AR FrIiA 2o
4604 B gk ik — 1 1 625 JIEAE TN Z 2
4605 A5 ik — 1 1 390 JiEAR TR 2
4606 FiE — A 1 531 JIEEAHR Tl o
4607 M =Y 3 1311 JIEAR TN Z 2
4608 X 47 =Y 4 2030 Pak: s FEXNZS
4609 FETh 95 -y 1 571 JIEEH FERXNZES
4610 FE T RE =AY 2 1062 JI A N ES
4611 X151 4E =Y 2 1062 JiEAE FEENZS
4612 EEN —1Y 1 531 JI R FERXNZES
4613 WER =4 1 531 JI AR ERXNZES
4614 X3 5 — 1 2 1062 JIEAHR FEXNZS
4615 AL — 1 2 780 JIEAR EENZS
4616 IR — A 1 531 JIEEA FEXNZES
4617 Rk — 1 1 390 JIEAE FEXNZS
4618 X RKAE — k4 2 780 Pak: s FEXNZS
4619 FEMG & =Y 3 1311 JIEEAH FERXNZES
4620 NS — Y 1 531 JI N ES
4621 ZE g | — k4 1 531 JiEAE EENZS
4622 XIF]ZE — 1Y 4 2077 JI R ERXNZES
4623 VG T =AY 2 1015 JI R FERNZES
4624 BREE — 1 1 531 JIEAE FEXNZS
4625 X FZE =Y 3 1546 JIEAR FEENZS
4626 KR A — A 1 625 JIEEAHR FERXNZES
4627 Il =Y 4 2312 JIEAR FEXNZS
4628 XIiE % — k4 2 921 JIHEAE FEXNZS
4629 Xl =Y 2 780 JIEEH FERXNZES
4630 XA 2L — Y 1 625 JI N ES
4631 £ IER} =Y 2 1062 JiEAE EENZS
4632 ZREZ —1Y 3 1311 JI R FERXNZES
4633 R =4 2 780 JI AR FERNZES
4634 DY =Y 3 1546 JIEAHR FEXNZS
4635 XIS ) =Y 2 1015 JIEAR EENZS
4636 £ Ttk — A 1 625 JIEEA FEXNZES
4637 AR OE — Y 1 531 J R TR R IR 2o
4638 X — Y 1 531 R e RIS




4639 = =AY 1 531 R K EINN T2
4640 e /NFE = 3 1781 JIHEE KRR T o
4641 XT3 — Y 2 921 JI A TR R 2o
4642 ik = =AY 2 921 J R K FIAR T2
4643 FeEg —1Y 2 1015 JIHEE TR R IP T o
4644 X -y 1 430 JI AR RIS
4645 TR % — Y 1 390 J R KN T2
4646 LIS/ — 1 2 921 Ji AR I C RN
4647 BARIE =AY 3 1311 JIEEA RIS
4648 XIS — Y 1 390 J R K FIAR T2
4649 X FE —1 4 1842 R KN T2
4650 R =Y 4 1842 JIHEE KR IP T o
4651 A N — Y 1 625 JI A K FKIAR Z 2
4652 PG AR — 1Y 5 2702 J R e RN
4653 KM% — 1Y 1 531 JIHEE KRR T2
4654 F X4 =AY 1 390 JI AR RIS
4655 PR =1 4 1701 R KN T2
4656 K U2 1k =4 1 531 Ji AR I C RN
4657 2 ) =AY 2 1156 JIEEAHR RN
4658 7K BT U] — Y 1 531 JI PIPSER 2o
4659 KBKE — Y 1 531 JIHEE WITSER 2o
4660 AN =Y 3 1311 JIHEE WIESEN Z 2
4661 B0 — 14 2 1062 JI A WIPSFR 2o
4662 preadil — 1Y 2 1015 J R DITSER 2o
4663 =51 —1Y 2 1062 JIHEE WIESEN Z 2
4664 ZAME =AY 2 780 JIHEE DS 22
4665 T I — Y 2 1015 JIHEE WITSER Z o
4666 BTyt — Y 4 1936 JI PITSER 2o
4667 =R — A 2 1062 JIHEE DS 2o
4668 BB — 1 1 390 JI DIESER 2o
4669 X — 4 3 1311 JIHEE WITSER 2o
4670 PR ZE =14 4 1936 Ji AR WIPSEN 2 2x
4671 X & — 1Y 3 1452 JIHEE SRR 2o
4672 B A — Y 1 625 JI DIPSER 2o
4673 PN — 1Y 2 1062 JIHEE WIESEN Z 2
4674 X% =AY 2 921 JIHEE SRR 2o
4675 PN — Y 2 1015 R WITSER ZE o
4676 Xl =% — Y 2 1156 JI DIPSER 2o
4677 X2 TT — A 1 625 JIHEE SRR 2o
4678 =REi — Y 2 1156 JI DIESER 2o
4679 =it =Y 2 1015 JIHEE WITSER Z o
4680 XA =14 1 390 Ji AR WIPSEN 2 2x
4681 XI| {25 — Y 1 531 JI RN T2
4682 R -y 1 430 JiEAE R 2 ox
4683 BiF5E —1Y 1 625 JI R RN 2
4684 THF =4 1 531 JI AR RN T2
4685 X PR — 1 4 1842 JIEAHR TRBEN T2
4636 ARAFIE — 1 1 390 J R ERBEN T2
4687 X W — A 1 390 JIEEA RN T2
4688 X6 B — 1 4 1701 JIEAE ERBEN T2
4689 L B e — k4 1 625 Pak: s ERBEN 22




4690 X E — k4 4 1842 JIHEAHE ERBEN 22
4691 X e 6 3139 JIHEE FRBEM T2
4692 X B &L — Y 2 1062 JI A RN T2
4693 TR fE S v 1 625 JiEAE ERBERN 22
4694 XIS =14 1 531 J AR RN 2
4695 XA =4 2 921 JI AR RN T2
4696 XAk — 1 2 1062 JIEAHR TRBEN T2
4697 X — 1 1 625 J R ERBEN 22
4698 BJE — A 2 1015 JIEEA RN T2
4699 XN ALE — 1 1 390 JiEAHE FERBEN T2
4700 AR E —1 1 390 Pak: s ERBEN 22
4701 R — Y 1 531 JIHEE RN T2
4702 Bk — Y 2 1156 JI A RN T2
4703 E U — k4 1 625 JiEAE ERBEN 22
4704 g — A 2 1015 JIHEE RN 2
4705 X1 55 =AY 1 625 JI AR RN T2
4706 X% — 1 3 1311 JIEAE TRBEN T2
4707 X % — 1 3 1170 J R ERBERN T2
4708 = — A 1 531 JIEEAHR RN T2
4709 X K — 1 4 1842 JIEAR FERBEN T2
4710 XA — Y 2 780 Pak: s ERBEN 2o
4711 XI| sl =Y 1 390 JIHEE RS
4712 Tk =AY 2 921 JI A FEBE AT 25 25
4713 =Xt =1 2 1062 J R R B A 25 2=
4714 WAL — 1 390 JIHEE R BE A A 25 2
4715 *élzlim — Y 2 1062 JI AR R VA i 25 2
4716 =Jat =AY 2 921 J R REBE A 25 2
4717 I itk — 1 1 390 Ji AR BRBE A 2 2
4718 i ia =AY 1 531 JIEEA R B vA i 25 2=
4719 TR =AY 3 1311 J R WEBE A 25 22
4720 IG5 =AY 3 1546 R R B A 25 o
4721 XHAEE =Y 1 390 JIHEE R BE A A 25 2
4722 EHEM =AY 2 1015 JI A FEBE AT 25 25
4723 ¥ S 4 2171 J R R B A 25 2=
4724 AR =14 1 625 Ji AR FRBEVA I 25 2%
4725 R E =AY 1 625 JI R R VA i 25 2
4726 X A =AY 1 390 R REBE A A 25 2
4727 TR =Y 2 780 Ji AR BRBE A A 2 2
4728 BLEF =AY 2 780 JIEEAHR JBR B vA i 25 2=
4729 X —Y 3 1452 Ji AR IR BT VA 1) 25 2
4730 P =Y 1 531 R WEBE i A 25 2
4731 X HE 75 =Y 3 1311 JIHEE RS
4732 X 2 — Y 2 1062 JIHEE A TS
4733 XS — 1Y 2 921 JI AESINEFS
4734 X4 =14 1 531 J AR AN
4735 =iiE =Y 1 531 JIHEE AESIEFS
4736 PR — 1 1 531 JIEAHR NESIEEFS
4737 WA — 1 1 625 J R AESINEFS
4738 ZRHJH — A 1 531 JIHEE AN TS
4739 [o=Xia =AY 1 390 JI NESINEFS
4740 XN, — k4 1 531 Pak: s HNESIINEFS




4741 TE — Y 2 1156 JIHEE NESIREFS
4742 SEIN =Y 1 531 JIHEE RNESIIINESFS
4743 S kY 3 1405 JI A AT
4744 ZR 1 [ — k4 1 531 JiEAE AESINEFS
4745 =R —1Y 3 1546 JIHEE AESIIINEFS
4746 M =4 1 531 JIHEE AESIEFS
4747 XK S — Y 2 921 JIHEE NESIEEFS
4748 R — 1 1 531 J R AESINEFS
4749 X — 1Y 1 531 Ji B AN
4750 75 LF =AY 1 390 JI NESINEFS
4751 DA =AY 1 531 JIHEE NESIINEFS
4752 P =Y 1 531 JIHEE NESIIINESFS
4753 XMk i =4 2 921 JI FRF N K T2
4754 BARLE — k4 2 1062 JiEAE AESINEFS
4755 BETs — 1Y 2 1062 JIHEE AESIIINEFS
4756 KR =AY 1 531 JI AR AESIEFS
4757 BEAE — Y 2 1062 JI AESIEEFS
4758 Tk JEAE — 1 1 390 J R NESINEFS
4759 BN AE — A 1 531 JIHEE AEIN TS
4760 75 B =Y 2 780 J R AEIIINESS
4761 XA — k4 1 531 Pak: s NESIINEFS
4762 X & =Y 1 390 JIHEE RESIINESS
4763 X — Y 1 390 JIHEE AESIINEFS
4764 /N =AY 3 1452 JI AESINEFS
4765 AR =14 1 390 Ji B AEIEFS
4766 R =AY 1 531 JIHEE AESIEFS
4767 X E — 1 1 390 JIEAHR NESIEEFS
4768 X SE 1k — 1 2 921 J R NESINEFS
4769 FRL =AY 4 1842 JIHEE AN TS
4770 AN — 1 4 1936 JIEAE NESINEFS
4771 ERE — k4 5 2326 Pak: s NESIINEFS
4772 XI5 5 =14 3 1546 Ji AR AN
4773 XI5 — Y 3 1170 JIHEE AEINE TS
4774 5140 — k4 1 390 JiEAE AESINEFS
4775 XKk =14 3 1452 Ji AR AN
4776 N =AY 1 531 JI R AESIEFS
4777 P =AU — 1 1 531 JIEAE AESIEEFS
4778 X & 55 — 1 3 1452 J R AESINEFS
4779 I AR — A 2 1156 JIEEAHR AEIN TS
4780 X 5% 7 — Y 2 1015 JIEAR NESINEFS
4781 Bk — k4 2 1156 JIHEAE AESINEFS
4782 BEE =Y 1 625 JIHEE RNESIIINESS
4783 BB Z%E =AY 1 625 JIHEE AESIINEFS
4784 X A8 8 =AY 2 1015 JI AESINEFS
4785 K % = —1Y 2 1250 JIHEE AESIIINEFS
4786 EB X =Y 1 625 JIHEE AESIEFS
4787 prpdlp S =AY 1 625 JIHEE NESIEEFS
4788 EEE — 1 1 625 J R AESINEFS
4789 AR EE =AY 3 1452 JIHEE AN TS
4790 sk K4 =Y 1 531 JIEAE NESINEFS
4791 XU — Y 2 780 JIHEE HNESIINEFS




4792 AT ERIE — k4 1 390 JIHEAHE NESIREFS
4793 =75 ik =Y 2 1015 JIHEE RNESIIINESFS
4794 Py e — Y 2 780 JIHEE AT
4795 X HE ) — 1Y 2 780 JI AESINEFS
4796 ZRA —1Y 2 780 JIHEE AESIIINEFS
4797 SR =4 1 390 JI AR AESIEFS
4798 TEE —1Y 2 1015 JIHEE NESIEEFS
4799 X & — 1 1 625 J R AESINEFS
4800 XA — A 1 625 JIHEE eSS
4801 pES — 1 2 1250 JiEAHE NESINEFS
4802 X B — 4 2 1062 JIHEE NESIINEFS
4803 B =Y 2 1156 JIHEE NESIIINESFS
4804 BEMRAE — Y 1 625 JIHEE AESIINEFS
4805 TRERE — 1Y 2 780 JI AESINEFS
4806 X252 — 1Y 2 1062 JIHEE AESIIINEFS
4807 HFEL =AY 2 780 JIHEE eSS
4808 75 F- I =1 2 1156 JI AESIEEFS
4809 7540 — 1 2 1062 J R NESINEFS
4810 DisiiDd — A 2 1062 JIHEE eSS
4811 X5 # = 1 531 JI NESINEFS
4812 ERZE Al — k4 2 1062 Pak: s NESIINEFS
4813 X2 =14 3 1311 Ji AR AN TS
4814 XA ZE — Y 2 780 JIHEE AEIE TS
4815 BN — 1Y 1 390 JI AESINEFS
4816 MEZ —1Y 2 1250 JIHEE AESIIINEFS
4817 75 o1 J =AY 2 780 JIHEE eSS
4818 PAY (et — Y 2 1062 JIHEE NESIEEFS
4819 AR ZE — 1 5 2232 J R NESINEFS
4820 25| ik — A 2 1015 JIHEE eSS
4821 X B — Y 2 921 J R HRBER Z 2
4822 X B — 4 1 531 R HRBER Z 2
4823 TR 2R =Y 1 390 JIEEAH EERINESS
4824 XIAE L% =AY 2 1062 JI A H RN Z 2
4825 X 4 4> — Y 1 531 J R HRBER Z 2
4826 X — A 2 1062 JIHEE EERINESS
4827 Xt =AY 2 780 JI R HRBENZ 2
4828 XFRZE =1 4 2312 R HXBER Z 2
4829 XI| — 1 3 1311 J R HRXBER Z 2
4830 X B 5 — A 3 1452 JIEEAHR H RN 22
4831 FEI5AE — 1 1 390 Ji AR SELNERS
4832 B 1 — k4 1 531 Ji A EELNERS
4833 XIfEEE =14 2 1015 Ji AR SERNESS
4834 X1 FH — Y 2 921 JI A H RN Z 2
4835 Pl =AY 3 1311 J R HRBER Z 2
4836 XEZE =Y 6 2998 JIHEE EERINESS
4837 =gl % =AY 2 921 JI AR HRBEN 2
4838 XA — Y 5 1950 J R HXBER Z 2
4839 X7 — 1 4 2312 J R HRBER Z 2
4840 gk e — A 1 625 JIEEA H RN 22
4841 BT = =AY 1 625 J R HRBER Z 2
4842 IR — Y 2 1156 R HRBER Z 2




4843 pIRGHE] —1 1 625 R HRBER Z 2
4844 XIPRF =14 1 625 Ji AR EENESS
4845 X% -y 1 665 JI A HRBER Z 2
4846 XA — 1Y 2 780 J R HRBER Z 2
4847 EIUPS — 2 780 JIHEE EERINESS
4848 X 5] H =4 2 1015 JI AR HRBENZ 2
4849 VT =14 2 921 J R HXBER Z 2
4850 A i — 1 2 1015 J R HRBER Z 2
4851 XU — A 1 390 JIEEA H RN 22
4852 XA — Y 1 531 J R HRBER Z 2
4853 X E A4 =Y 2 780 R HRBER Z 2
4854 XU PR — Y 1 625 J AR EEAINESS
4855 e =AY 1 625 JI H RN Z 2
4856 pESAN — 4 4 1983 J R HRBER Z 2
4857 X EA — 1Y 1 531 JIHEE MM
4858 Rl =AY 1 531 JI AR WEiBNZ 2
4859 i — Y 1 531 R VB2
4860 R AR — 1 531 JI YEE R 2o
4861 X Z % -y 3 1525 JIEEAHR W EiBNZ 2
4862 PN —Y 2 921 J R W2
4863 XS — Y 1 390 R VSR 2o
4864 X AR AT =Y 4 1842 JIHEE MM
4865 EER — Y 2 921 JI A W EiBN 2
4866 PR =AY 1 625 J R W 2o
4867 R —1Y 1 625 JIHEE MM
4868 X =AY 3 1405 JI AR WEiBNZ 2
4869 Uﬂa. =AY 2 1015 J R Ve 2
4870 MEE =Y 2 780 J R YEE R 2o
4871 X EZE — A 3 1311 JIEEA W EiBNZ 2
4872 ErE — 1 1 531 JIEAE RO T
4873 Tk 58 — k4 2 1062 Pak: s RO T
4874 EFH =Y 4 1560 JIEEAH RO o
4875 ZHEE — Y 1 531 JI RO ZE o
4876 22 ] — k4 1 625 JiEAE RO T
4877 T — 1Y 2 1062 JI R RO ZE o
4878 TR =AY 1 390 JI R RO TS
4879 R — 1 3 1452 JIEAE R T
4880 AT — 1 2 921 J R RO T
4881 o =AY 1 390 JIEEAHR RO ZE o
4882 I 5]k — 1 1 531 JIEAR RO T
4883 BN — k4 1 390 JIHEAE RO T
4884 IR =Y 1 531 JIEEH RO ZE o
4885 ik Fe — Y 2 780 JI RO T2
4886 2= [n] A8 — k4 2 1062 JiEAE RO T
4887 Z= 5| i —FY 1 625 J AR TR T2
4888 Z=H —Y 5 2232 JI AR RO ZE o
4889 225 1 —1Y 1 470 JIEAHR RO T
4890 BB —Y 3 1546 J R RO T
4891 B =AY 1 625 JIEEA RO ZE o
4892 BN =Y 1 625 JIEAE RO T
4893 M/ — k4 1 625 Pak: s RO 2o




4894 X s 5% =Y 1 625 JIHEAHE R 2o
4895 ik K =Y 2 780 JIEEH TR N ZE2
4896 K ER =AY 2 780 JI RGN ZE o
4897 X M- =Y 1 531 JiEAE RO T
4898 FEE =14 2 921 J AR TR T2
4899 2= S S =4 5 2373 JI AR RO ZE o
4900 KR =Y 2 780 JIEAHR R T
4901 25N =Y 1 390 J R R T
4902 TRARAT — A 2 1062 JIEEA RO ZE o
4903 25 °F =Y 2 1015 JiEAHE RO T
4904 AIE K — k4 3 1311 Pak: s TR T
4905 KN =Y 1 390 JIEEH TR N ZE 2
4906 B — Y 3 1311 JI A JBR 2 VA 5 o
4907 SR — 1Y 1 531 J R R 2 U ) 5 o
4908 5K B [ =14 2 1156 Ji AR PR 2 WA 25 2%
4909 ik IERE =1y 2 1062 JI AR JBR 2 VA 25 o
4910 £ 340 — Y 2 921 R JBR 2 U ) 5 o
4911 | A — Y 1 531 JI B 2 U ) 5 2
4912 TRALE — A 2 921 JIEEAHR JBR 2 VA 5 o
4913 K B X — Y 2 780 J R JRR 2 U ) 5 o
4914 X F54E =AY 1 531 R R 2 U ) 5 o
4915 7 fif = =Y 1 531 JIEEH RV 25 2>
4916 2 =AY 2 921 JI JBR 2 VA 5 o
4917 KA I — 1Y 2 1062 J R R 2 U ) 3 o
4918 XI| il 72 =14 3 1452 J AR PR 2= WA 25 2%
4919 X ik =AY 1 390 JI AR JBR 2 VA 5 o>
4920 2= ] pk =Y 2 1156 Ji A JBR 2 U ) 5 o
4921 AR T =AY 2 1062 JI B 2 U ) 5 o
4922 gk B4 =AY 2 1062 JIEEA JBR 2 VA 5 o
4923 ik 1 — Y 1 390 J R B 2 U ) 5 o
4924 ZEEM — Y 1 390 R R 2 U ) 5 o
4925 ENS =Y 2 780 JIEEAH BRI 252>
4926 gk B =AY 2 780 JI JBR 2 VA 5 o
4927 T =AY 1 625 J R JRR 2 U ) 3 o
4928 2=k =14 1 625 Ji AR PR 2= WA 25 2%
4929 2k =AY 1 531 JI R JBR 2 VA 5 o
4930 F=K =AY 4 2312 R JBR 2 U ) 5 o
4931 TE =AY 2 1250 JI B 2 U ) 5 o
4932 R =AY 2 780 JIEEAHR JBR 2 VA 5 o
4933 ZEER =AY 3 1546 J R JRR 2 U ) 5 o
4934 X AR =Y 2 780 R JRR 2 U ) 5 o
4935 X4 E =Y 2 921 JIEEH R 2SR 25 2>
4936 S| U EEN — Y 1 531 JI A HFIENZ 2
4937 Pk F =AY 1 390 J R KX 22
4938 F 348 =AY 2 1062 JIHEE REEMNZE 2
4939 XIAEHE =AY 1 531 JI AR HE BN Z 2
4940 AR — Y 1 531 J R KB
4941 &t =AY 2 780 JI KX BN 2
4942 T =AY 2 1015 JIEEA HF BN Z 2
4943 FEE =AY 1 390 J R KBz
4944 WAL - =AY 1 531 R KX 2




4945 L IE — Y 2 921 R KX 2o
4946 Z5 [ B =Y 2 1062 JIHEE REEMNZES
4947 ZEHp — Y 3 1405 JI A HFIENZ 2
4948 X IEF =AY 4 1936 J R KX 22
4949 PhER = —1Y 1 625 JIHEE REEMNZE 2
4950 ZHIE =AY 1 531 JI AR HE BN Z 2
4951 XN & 5 — Y 1 390 J R KB
4952 kA — Y 3 1687 JI KX BN 2
4953 ZH — A 2 1015 JIEEA HF BN Z 2
4954 E5iEES — Y 2 1015 J R KB ZE
4955 EX =AY 3 1546 R KX 2
4956 k/INF =Y 3 1170 JIHEE REEMNZE S
4957 Gk 2 — 14 1 390 Ji B KBNS
4958 FRE — 1Y 3 1405 J R KX BN 2o
4959 )G — 1Y 2 1062 JIHEE REEMNZ 2
4960 WEIRE =AY 2 780 JI AR HE BN Z 2
4961 ZEE i =AY 2 921 R KB
4962 EilFH — Y 4 1701 JI KX BN 2
4963 o FYE =AY 2 780 JIHEE Vi SR 22
4964 o L —Y 1 625 JI D IR &2
4965 0 SELE — Y 2 1062 JIHEE TS
4966 RS =Y 4 2077 JIHEE TS
4967 KA — Y 1 390 JIHEE 7i SR 22
4968 =N — Y 1 531 JI PG IR &2
4969 2= IE B —1Y 2 1062 JIHEE S
4970 o T =4 2 1062 JIHEE [ NS
4971 Z5{E — Y 2 780 JIHEE TS
4972 ZEE —14 1 390 J R P G IR 25 2
4973 W KES — A 4 1842 JIHEE Vi G IR 22
4974 ZE S A — Y 3 1452 JI A
4975 By ] — 4 1 531 JIHEE PG RN &2
4976 2 Y =Y 1 625 JIHEE TS
4977 EME — 4 1 390 JI PO I A 2o
4978 REx — 1 390 JI G IR &2
4979 EilFZE — 1Y 4 1842 JIHEE S
4980 2=k =AY 1 531 JIHEE Vi G IR 22
4981 2RIt — Y 1 390 JI PG IR &2
4982 PhifEES — 1 3 1170 J R P G IR 25 2
4983 E K EA — A 2 921 JIHEE Vi G IR 22
4984 BH% — Y 4 2077 JI RN T2
4985 2 =Y 2 1015 JIHEE BRI ZE2
4986 ZEHEHE =AY 4 1701 JIHEE FEHRENZZ
4987 X ZR 5 — Y 1 390 JI FERENZT2
4988 F 4 — 1Y 2 1250 JI EXENZE2
4989 E ik Ak —1Y 2 1015 JIHEE EXEMNES
4990 E4F =AY 2 1015 JIHEE EXENZ2
4991 EET =AY 2 1015 JIHEE EXENZES
4992 =1 — 1 1 625 J R EXBENES
4993 51 — A 2 780 JIHEE EXENZ2
4994 F 4N — Y 2 780 JI EXENZES
4995 F &t — Y 1 390 JIHEE EXEMNZES




4996 GEF — Y 4 2077 PN ks REN TS
4997 TG 5 =Y 1 390 Nk IRENZES
4998 Eem@l — Y 2 1015 Nk RENES
4999 EIEZE — 4 2312 PN ks KBNS
5000 X — 1Y 1 531 Nk IREN S
5001 G151 9 =4 2 1156 Nk RENZES
5002 =A% =Y 2 780 PN ks S
5003 k5 =AY 3 1405 PNk BN Z S
5004 W I =Y 2 1015 Nk e N
5005 259k 1% —Y 2 921 RAR M5 BN ZS
5006 BTN =AY 4 2077 PN BN Z S
5007 A0 =Y 3 1311 Nk {EAK IR 22
5008 (ARrSER — 14 4 2171 Nk Bk 22
5009 ML 3 =4 5 2843 PN ks AR 22
5010 AT =k — Y 2 780 Nk AR
5011 XA =AY 2 1015 N (AR 22
5012 X =R =1 2 780 PN ks AR 22
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